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for the questions

Answer either in English or in Assamese

1. Answer the following questlons as directed :

1x10=10
wre il enpiRe Sed ot o
(a) Choose the correct answer :
W% TeT0o IR Sferea o

When aggregate economic activity is
Jincreasing, the economy is said to be in

Qe AT wRASS wfm*’ﬁ 3% s,
cofoa wART
(i an expansion
EPIRY o
(i) a contraction -
Lo T
(i) a depression
e =1
" (iv) None of the above . -
SR I8 7 A .
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. (b)

(c)

(d

(e)

A9/860

(2)

: Choose the correct answer :

‘?ﬁﬁﬂﬁﬁﬁﬁﬁii#%&m

~ A'cause of inflation is

TR PR R

*f) increase’in money supply

e @R QI

* (i) increase in- money supply .and fall

in productmn
al%‘, © JU_ C‘II"TF{ HqF Teome ’&'P’f

'(zu) only for all of production

W%amm

(iv) decrease in m’ohey * supply and
Increase in production

T R @ o e *\_@vm

‘Write one important factor which is

respon81ble for demand-pull inflation.

mmaﬁmwm
a1

What does IS and LM curve stand for?

IS S LM 333 R o1 2

Fill in the blank :
#ﬁﬁ’ﬁw :
MV+MV

T =

( Continued )

1]

(9)

(h)

A9/860

(3)

What does a vertical IS curve mean?

QWWIS @‘(ﬁﬁﬁﬁﬂ"

Choose the correct answer : -
W% TEICoT AR Tfersd ¢

The simultaneous increase in
unemployment and prices is called

ﬁa@Wﬂmﬂq&mW
PRI =

(i) hyperinflation
Soife TS

(i) stagﬂatlon

(i) deflation

(iv) None of the above
@{q OIS T

Fill in the blank :
ifer 972 o 0 :

The LM curve shlft to the right when the
stock of the money supply is
afem @R @ 7§, cefem LM
@oE o Resr =1
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-Write Yes or No ;- .

[ = o
According to Fisher—“The increase in
money ‘supply always lead to a

proportional increase .in- general price
level”.

ﬂwmwﬂmﬁmmw
Wwamﬁmqﬁam”n '

Choose the correct answer :
BT TEIO! AR Sfereay -

The Recession phase of Trade .cycle is
characterized with. - -

wﬁwymwﬁﬁtmm

() low level of i investment, low level of
production and low level of
employment '

R R, B Seotret o i o 2

(i) high level of investment, high level
of production and. high level of
employment -

% RV, ©% Seorm wF O Aoy
EX

(i) high level of investment but low
level of production and employment
% Rfva Re fw %vnrﬂ e fg
o -

-(iv) None of the above '

S{] IS =Y

( Conitirired )

2. Answer the following questions :

(5)

SoTS Al SRR e i

(a)
1T 5& TR B 2.

- (b)

()

(@)

(e

-A9/860

What are the phases of bush1¢§s cycle?

Write the basic differences between
demand pull and cost push inflations.

‘WW%‘W

In Fisherian version of quantity theory of

_money, what does P, M v, M’ and V’
" “stand for? ¥

*ﬁm«{aﬁﬁﬁmﬂ-wp M V M'w
V'ﬁsvpm

What are the factors that detenmne the
slope of the IS curve?

IS (R ot o 91 IR R R

Give two criticisms of Hicks multiplier

- ‘accelerator - interaction theory of

business cycle.

i e TR @R W ﬁf@m o
SIS SCER 0 | S

( Tuth Over )
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(6) | | (7)

3. . Answer the following questions :

5x4=20 (d) Write short noteson :
were i e ey 59 (O o
(@) Show how IS curve will change as a () Depression
" ‘result of ~increase in Government MARE
Expenditure. (i) Structural inflation
59eIRl T IR FoT© IS @R ca-zaias ﬁﬁa%-»{ NS TS

(b)

(c)

A9/860:

W, g1

Or / 7

Explam the factors that determme the
slope of the IS curve.

IS (@I O [Nl 90 SRR I 47
‘Explain briefly the different phases of
business cycle.

'aﬂﬁwmﬁﬁ'ﬂwmwwn

Or / 75

Explain bneﬂy tI;e featurés of business
cycles.
e vy CIFBIIR BF IR 0

will a doubling of money supply always
lead to a doubling of general price level?
Explain.

R @ fagd fac ST TERT T W
e I <OMCA ? I 9 | :

{ Continued )

4. Answer the following questions (any four :

wﬁmmwm(ﬁmmﬁﬁ):

(a)

(b)

(©

A9/860

Explain IS and LM curve. What is the
role of these two curves in simultarieous
determination of equilibrium Ttate of
interest and level of income? -

IS oF LM I 10 91 1 9 T oF W

Discuss the features of IS and LM |
curves. Is the equilibrium between IS

and LM curves always stéble? Explain..

IS WF LM @{[ (RS Sieemse 991 | IS
% LM WWW%W?W«

54|
“Fisher’s ‘Equation of  exchange is. a
useless truism.” Do you agree? Explain.
“Pg ANFINBT o1 P Fosfe w917
SRR (SR TS FORA ? A 3T | :

10x4=40

" “{ Turn Over)



(8)

(d) Explain critically the cash balance
approach to quantity theory of money.

TR TW G SGON ACABARS 17T
9

() Explain the impact of inflation on
production and distribution.
B we Rerr eome a{wﬁrﬁm O
RILIECIEe

() What is cost-push inflation? How can it
be controlled?

SRS {EF’?IT% IR A ? 3311?? AT
o 33 1R 2

(g9 What are the assumptions of Hicks
multiplier accelerator interaction theory
of business cycle? How did he explained
the upswing of business cycle with it?

%57 (Hicks) 30w &t @9 w¥q Ridmy

| SY0R SRR ¥ 62 RIS (Hicks) ¥
Wﬁﬁwaﬂwmmﬂf‘w RS
Jrm IR

(h) “Change in the flow of money is the sole
and sufficient cause of changes in
econornic activity.” Explain. -

WWWWWWWW
- PG S SN IR 17 U F]A |-

* k% ) .
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